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More…than 
A sentence based on official question (GMATPrep: Shipwrecks are more likely to be found...): 
 
Studies suggest that couples who make intentional decisions regarding “major relationship transitions” are 
more likely to flourish as opposed to those who slide through transitions. 
 
Analysis: The correct idiom is more likely than and not more likely as opposed to. So, the correct sentence 
would be: 
 
Studies suggest that couples who make intentional decisions regarding “major relationship transitions” are 
more likely to flourish than those who slide through transitions. 
 
  


